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using System;
namespace Questionl

{

class Program

static void Main(string[] args)

double x, result;
Console.Write("Enter x Value: ");

In v 1

Convert.ToDouble(Console.ReadLine());

(x +2) /(2 * x);
=0 && x <= 1)
-1 * Math.Pow(x, 2);

1/ x;

Console.WriteLine("F({@0})= {1}",x,result);
Console.ReadKey();

{
{
X =
if (x < 0)
result
else if (x
result
else
result
¥
}
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using System;
namespace Question2
{
class Program
{
v static void Main(string[] args)
R,A,V {
double radius, Area, Volume;
Console.Write("Enter the radius of the sphere:");
R radius = Convert.ToDouble(Console.ReadLine());

Area = 4 * Math.PI * Math.Pow(radius, 2);
A=4%*3.14 *R *R Volume = (4 / 3) * Math.PI * Math.Pow(radius, 3);
V=(4/3)* 3.14 * R*R*R

Console.WriteLine("Area is: {0}",Area);
Console.WriteLine("Volume is: {@}", Volume);
Console.ReadKey();
AV
}
}




) g

e b j9aT g 'ﬂ.ﬁ}.lﬁl.l l,.lﬂ.l’ﬂj MU}J
i g oo lSiicla alge g ] .
LHlmls 3gsuun :jpu) 20 I-ugi aolipy Ciliypai acgozo by //1;22
uL‘> 9 d.....ul.‘?uv ‘) 00)95 )3.4»[@ Connd Cluo e ‘(R) oo; uﬁl.u).) 99,9 )‘ ‘) & gS.' BRISY S -] 3)."0 &Lv_...: as o g us‘)l"’?b -y

S=DxD l) Sl ).»‘).v D éJ..o Jj.lo L & TS TS 9 A=3.14xr"2 la Sl f‘)—’ r &L&m Le oﬁlo el I‘SQ’M‘)

o
o

¥ Jlge gy
W)leelé old (o b 4 sl
using System;
namespace Question3
{
class Program
{
v static void Main(string[] args)
R, H, Sq, Sc,d { .
double radius, d, Sq,Sc,H;
Console.Write("Enter the radius:");
R radius = Convert.ToDouble(Console.ReadLine());
d = radius * radius;
d < R? Sq =d * d;
Sq «d* Sc = Math.PI * Math.Pow(radius, 2);
S, <3.14 =R? H = Sq - Sc;
HeSy - S Console.WritelLine("Painted Area is: {0} m"2",H);
Console.ReadKey();
}
}
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Salary , vam, Result

salary
False @ True

Result « salary - (((salary *10)/100) + ((salary =5)/100))

A 4

Result « salary - (((salary *10)/100) + ((salary *5)/100) + (salary * 3 /100)
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using System;
namespace Question4

{
class Program
{
static void Main(string[] args)
{
decimal salary, result = 0;
bool vam = false;
Console.Write("Enter employee salaries: ");
salary = Convert.ToDecimal(Console.ReadLine());
Console.Write("Does the employee have a loan(© or 1)?");
vam = Convert.ToBoolean(Console.ReadLine());
if(vam== true)
result = salary - (((salary * 10) / 100) + ((salary * 5) / 100) + (salary * 3 / 100));
else
result = salary - (((salary * 10) / 100) + ((salary * 5) / 100));
Console.WriteLine("Salary received: {0}", result);
Console.ReadKey();
}
}
}
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, —b++D —b—~D , —b ,
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a,b,c,D,x1,x2

a,b,c

D& (b+b)-4x*axc

x1 = (—=b + sqrt(D))/ (2 * a)
x2 = (—b — sqrt(D))/ (2 * a)

x1=-b/(2%* a)
x2= —-b /(2% a)

”

“No root” x1,x2
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using System;
namespace Question5
{
class Program
{
static void Main(string[] args)
{
double a, b, c, delta, x1, x2;
Console.Write("Enter a value:");
a = Convert.ToDouble(Console.ReadLine());
Console.Write("Enter a value:");
b = Convert.ToDouble(Console.ReadLine());
Console.Write("Enter a value:");
¢ = Convert.ToDouble(Console.ReadLine());
delta = Math.Pow(b, 2) - 4 * a * c;
if(delta>0)
{
x1 = (-b + Math.Sqgrt(delta)) / (2 * a);
x2 = (-b - Math.Sgrt(delta)) / (2 * a);
Console.WriteLine("x1= {0} , x2= {1}",x1 ,x2);
}
else if(delta==0)
{
x1 =x2=-b/ (2 * a);
Console.WriteLine("x1= {0} , x2= {1}", x1, x2);
}
else
Console.WriteLine("The equation has no real roots!");
Console.ReadKey();
}
}
}
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using System;
namespace Question6
{
class Program
{
static void Main(string[] args)
{
for (int i = 100; i <=998; i+=2)
{
Console.Write("{0}, ", 1i);
}
Console.ReadKey();
}
}
}
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using System;
namespace Question?
{
class Program
{
static void Main(string[] args)
{
int num, fact = 1;
Console.Write("Enter your number: ");
num = Convert.ToInt32(Console.ReadlLine());
for (int i = num; i >=1; i--)
fact *= i;
Console.WriteLine("Factorial({@})= {1}", num, fact);
Console.ReadKey();
}
}
}
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using System;
namespace Question8
{
class Program
{
static void Main(string[] args)
{
int a, b, Result = 1;
Console.Write("Enter first number:");
a = Convert.ToInt32(Console.ReadlLine());
Console.Write("Enter second number:");
b = Convert.ToInt32(Console.ReadLine());
for (int i = 1; i <= b; i++)
{
Result *= a;
}
Console.WriteLine("{0} ~ {1}= {2}",a,b,Result);
}
}
}




